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Q.1 :- A manufacturing company is engaged in producing three type of products A,B and C. The
production department produces each day, Component sufficient to make 50 units of A, 25 Units of B
and 30 units of C. The management is confronted with the problem of optimizing the daily production
of products in assembly department where only 100 man hour are available daily to assemble the
products. The following additional information is available: (8 marks)

Assembly time per .
product (hrs)

Profit contribution of per unit
of product {rs)

Type of product

A 12 8
B 20 1.7
C 45 2.5

or ‘

The company has the daily order commitment for 20.units of product A and total of 15 units of product
B & C. formulate this problem as an LP Model so as to maximize he total profit.

0.1 Two breakfast food manufacturers, ABC & XYZ are competing for an increased market share. The

payoff matrix shown in the following table, describe the increases in the market share for ABC and

decreases for XYZ (8 marks)
ABC XYZ o
Give coupons Decrease prices Maintain present Increase
| R . B strategy |- sdvertisement
Give coupons 2 4 1
Decrease prices 6 12 3
Maintain present -3 0 6
_strategy O [ Jo
Increase 2 7 1
advertisement

Determine the optimal strategy for both the manufacturers and the value of the game.




~Q:2:-write-short-notes- . — S - (10-marks) e

o  Siochastic simulation and random numbers ...

¢ Method of generatmo random nUmber and Use of random NUMber 1o 1orest any Lusiiess™
_ actl\nty ' ' '
or

.. Q. 2:-..Explain the Maclaurian and taylor series of a polynomial function at zero and other than zero

2o

point. _ o . {10 marks)

Q.3:- A factory produces 150 scooters. But thé'ﬁrbauc'iién ‘rate varies with the distribution depicted as”
in fO"OWII’!gmtabie e e oo e e S (6 marks) -

S Juction 7 T Tiae 1.50 151 T152 T

rate

probability .05 .10 .5 20 .30 15 .05

At present the truck will hold 150 scooters. Using the following random number determine the average

number of scooter waiting for shlpment in the factory and average nurber of empty space in the truck. -

Random numbers are — 82, 54, 50,96, 85, 34, 30, 02, 64, 47.
Or

Q. 3:- Use Jacobian determinants to test the existence of functional dependence between the paired
function: ‘ {6 marks)

o Y1=3X12+X2 & Y2 = OX1 + 6X12(X2 +4) + X2(X248) +12

Q.4- let the equilibrium condition for national income be ' (8 marks)

S(Y)+T() """"""" (Y)+GO(S’T’ I’>0 S’+T’>I)

Yy £

Where S Y T Iand G stand for savmg, natlonal income, taxes mvestment and government expenditure
respectively. All derivatives are continuous. -

--a)-Interpret the economic meaning of the derivatives &', T" and I'.
b) Check whether the Jacobxan determlnant condition for implicit function is satisfy |fyes then find
out the equilibrium-identity:—
¢) Find the (dY*/dG0) and discuss its economics implications.

or

" Q.4:- Explain the quasi concavity and quasi convexity with geometrical and algebraic characterization. (8 .

marks)




Or

Q.5:- show that the result I{t) = I{0) e?st can be obtained alternatively by finding an equating the definit

integral of both side of-;-%=ps with respect to t with imit of integration' t=0 and t=t
Q. 6:-write short note on the following - (10 marks)

...®_ Comparative analysis and its limitation
e Dynamic analysis and its limitation.

Or-
QLB attemptthetollowing 4 {I0marks)
'A)“H'ow to find 'eigenva'lues explain with examp?e _ o (5 marks)

B) find the real eigen values and associated eigen vectors {5 marks)

0 0
A=1/2 0
/

6
0
0 1/3 0




